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1. Evaluate 1 e ).
VAt ng&(\/’ﬁ\/n-k vnvn + 2 * Vny/n + n>

Answer :

2. Find the volume of the smaller region cut from the solid sphere p < 2 by the plane z = 1.

Answer :

' 4z - 3z + 2

3. Evaluate / m dfl} .
Answer :

1
4. Evaluate the iterated integral / / sin(y?) dy dz.
0 z

Answer :

5. .Find the area of the portion of the plane y + 2z = 2 inside the cylinder z? 4 y? = 4.

Answer :

COS X cos 3z

3
6. Suppose that F(z) is an antiderivative of f(z) = ——, =z > 0. Express /
z 1

dz

in terms of F.

Answer :.

7. Along all triangles in the first quadrant formed by the z-axis, the y-axis, and tangent
lines to the graph of y = 3z — 22, what is the smallest possible area?

Answer :

8. A space probe in the shape of the ellipsoid 4z 4 y?-+42% = 16 enters Earth’s atmosphere
and its surface begins to heat. After 1 hour, the temperature at the point (z,y, z) on the
probe’s surface is T'(z, y, 2) = 8z2 + 4yz — 16z + 600. Find the hottest point on the probe’s

surface.

Answer:___ fg . % @ ;ﬁ ;"Kiﬁ
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1 Find the Taylor polynomials of orders 2 generated by f(z) = at
0, ifx=0

a=0.

2. Let a and b be constants with 0 < a < b. Does the sequence {(a" + ™)/ "} converge? If

it does converge, what is the limit?

3. Find the limit of f or show that the limit does not exist.
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